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MASTER OF ARTS (ECONOMICS)

Term-End Examination

December, 2018 00670

MECE-003 : ACTUARIAL ECONOMICS :
THEORY AND PRACTICE

Time : 3 hours Maximum Marks : 100

Note : Attempt questions from each section as per instructions
gtven under each section.

SECTION - A

1.  Answer any two questions from this section :
(a) Explain the meaning of life annuities. 2x20=40
(b) Calculate the single premium of immediate
annuity for 5 years if the monthly annuity
is ¥ 50,000 increasing annually by 10% and
discount rate is 10%.

2.  What do you mean by Dynamic Financial
Analysis ? Discuss its features.

3. = Explain different categories of reserves in
general insurance. Discuss the basic principles
of reserving methods.

MECE-003 1 . P.T.O.



4. (a) What do you mean by effective interest
rate ? How does it differ from nominal
interest rate ?

(b) If the interest rate for first 5 years is 10%
second 5 years is 15% and third 5 years is
20%, how much you should invest to
receive a sum of ¥ 1,00,000 after 13 years ?

SECTION - B
Answer any five questions from this section.
5x12=60
5. What is optimal proportional reinsurance ?
Explain your answer in details.
6. (a) How excess loss reinsurance provision is

different from quota share reinsurance ?

(b) If an insurance company has re-insurance
arrangements of quota share =20%, What
will be the payment to be made by the
insurance company if the claims are as
follows :

Claim amounts (in Rupees)
@ ¥ 30,000
(i) ¥ 10,000
(iii) ¥ 20,000
(iv) ¥ 50,000

7. Why do we need to regulate the insurance
industry in India ? Give reasons in support of
your answer.
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10.

11.

12.

Define the following terms :

(a) Sample space

(b) Conditional probability

(c) Martingale measures

Explain unit-linked insurance contracts.

What is an extreme event ? How extreme value
theorem is used by an insurance company ?

The mean of severity distribution is 30 and
standard deviation is 900. For p=95% and
k=5%, find the full credibility number of claims
of the pure premium, given that
®~1(97.5%) =1.96.

Write short note on :
(a) Time value of money

(b) Black - Scholes model
(c) Capital Asset pricing model
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HAT - h

1. 399 e @ v ¥ S fad) 2x20=40
(a) it e afiient 1 e ToEEe
(b) Yoty qrehias afde! &1 THd IR
sipfer wt afg 39 it &1 HITGH
Z 50,000 B o whred 10% # gfg AW A
frrfierrer =€ off 10% 1

0 TeETE Tadr favdmw ¥ Sy F S 72
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4. (a) VVEISHN R FNT? 7€ Az = X A ey
R fa= 32
(b) IfC TTRA 5 AN TH W W 10% q, TR
5O T 15% 91 AW 5 I8 9% 20% B @
13 7 12 % 1,00,000 F T T ¥ F o
3vent fehaen frawr e aem 2

W -@&
T 9 ¥ Tl e weHi & s fafan 5x12=60

5. el sruifes gm0 €7 fawar @ woemey

6. (a) I HAFAW A A @l g Imym
| yr f=1 B 2
(b) TH s S ¥ QAT BT A 20% T
fora g1 afe 3 ot it 39 < % e =
SR U A T8 SN T T Y FraT- e
YTAE Hait ?
G ¥ 30,000
() ¥ 10,000
(i) ¥ 20,000
(iv) Z 50,000

7. & uRa W & sEn ¥ Freme w9 wl sea 0 o
IR FIYH ad off &)

8.  Tehl R &
(@) faey faam
(b) | Wi
(c) wiféia A=
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9. gfe Hag 9 sdy SHEET

10. U H AR ? HIS §IH HTH] T JH TAT Fi
fore gopR AT St 2

11.  T&a1 e & e 30 3R A famor 900 B
A p=95% 3R k=5% &~1(97.5%)=1.96 B W
fags sifm & <& & 1ol e s STis i
Ead

12. ¥ R dfira feufomr fag

(@) T w1 FRAERG YoIHH
(b) AH-Ves FiaHE

() Usira ufiusT geaien wfomm
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